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PART -1: GENERAL ENGLISH

Read the sentences and choose the right answer and mark it.

1. Prabha feels she is | Sarojini Naidu.
(1) a (2) the
(3) an (4) no article
2.  Neither Rahul nor I the viction of the last year’s flood.
(1) is (2) am
(3) are (4) being
3.  There were a lot of its in the insurance policy. What part of speech is the underlined word?
(1) Noun (2) Conjunction
(3) Preposition (4) Interjection
4.  She can solve the problem, y:
(1) Canshe (2) Canher
(3) Can’tshe ' (4) Can’ther
5.  Penicillin (discover) in 1928.
(1) discovered : (2) is discovered
(3) wasdiscovered (4) hasbeen discovered
6. It’s so dark that I can’t see anything.
Change the above sentence into simple sentence.
(1) It’stoo dark to see anything.
(2) It’s too dark for me to see anything.
(3) It’sverydark and I can’t see anything.
(4) Ican’tseeanything because it’s very dark.
7.  Sheis fond classical dance.
(1) with (2) on
(3) for (4) of
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8.  Let me see the picture - change into passive voice.
(1) The picture is seen by me (2) Let the picture be seen by I
(3) Let the picture be seen by me (4) Let the picture is seen by me

9. Choose the correct sentence.

(1) Towna factory (2) Iamowning a factory

(3) Iwasowninga factory (4) Ihavebeen owning a factory
10. the meaning of new English words in your dictionary.

(1) Lookin (2) Lookup

(3) Look after .(4) Look into

For [Q.No. 11 to 20]: Read the following passage carefully and choose the correct answer to the
questions that follow.

The controversy over genetically modified food continues unabated in the West. Genetic
Modification (GM) is the science by which the genetic material of a plant is altered, perhaps to
make it more resistant to pests or killer weeds, or to enhance its nutritional value. Many food
biotechnologists claim that GM will be a major contribution of science to mankind in the 21
century. On the other hand, large numbers of opponents, mainly in Europe, claim that the benefits
of GM are a myth propagated by multinational corporations to increase their profits, and that
they pose health hazards they have therefore, called for governments to ban the sale of genetically-
modified food.

The anti-GM campaign is quite effective in Europe, with several European member countries
imposing a virtual ban for five years over genetically-modified food imports. Since the genetically
modified food industry is particularly strong in the United States of America, the controversy
also constitutes another chapter in the US-Europe Skirmishes which have become particularly
acerbic after the US invasion of Iraq.

11. What is genetic modification?
(1) Altering the physical characteristics of a plant
(2) Altering the genctic material of a plant
(3) Altering the nutritional value of a plant
(4) Altering the taste of a plant

12. What is the major contribution of science to mankind in the 21% century?
(1) Genetically modified food (2) Multinational corporations
(3) Genetic Modification (4) Pesticides and Weedicides
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13. Where is the anti-GM campaign effective?
(1) USA (2) Australia
(3) Allover the world (4) Europe
14. Choose the ANTONYM of the word ‘benefit’.
(1) gain (2) disadvantage
(3) asset (4) boon
15. Find the word in the passage which means ‘to engage in a minor dispute’.
(1) imposing (2) claim
(3) skirmishes (4) enhance
16. What is the part of speech of the word ‘nutritional’?
(1) Noun (2) Adjective
(3) Adverb (4) Conjunction
17. According to the passage where does the controversy over genetically modified food
continue?
(1) In the West ] (2) IntheEast
(3) Inthe South (4) Inthe North
18. Biotechnologist is the person who studies
(1) human mind and behaviour
(2) life style of birds and animals
(3) genetic, chemical and physical attributes of cells
(4) humans and their customs scientifically
19. Choose the Adjective form of the word ‘HAZARD"’.
(1) Hazardly (2) Hazardom
(3) Hazardously (4) Hazardous
20. Who called for governments to ban the sale of genetically-modified food?
(1) A few people in Europe (2) Large number of opponents in Europe
(3) Multinational companies (4) Biotechnologists
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21. Choose the word for the phonetic script given —
/dz"nk/
(1) drunk (2) donkey
(3) jockey (4) junk
22. Find the word that is different from the other words in the group with regard to the sound
of the underlined letters.
(1) mean (2) measure
(3) leisure (4) pleasure
23. Choose the wrongly spelt word
(1) bouquet (2) mischevous
(3) foreign (4) discipline
24. Identify the silent letter in the word ‘DEBRIS’
(1) d (2) b
) r 4) s
25. Identify the number of syllablés in the word ‘CONSTABLE’.
(1) 4 ) 3
(3) 2 ) 1
26. Choose the meaning of the word ‘ANIMATE’.
(1) Havinglife (2) Havingno life
(3) A creature that has spirit (4) Ofbeing great spirit
27. Choose the word that has a wrongly market stress.
(1) A'bility (2) Communi'cation
(3) 'Sort (4) 'Beside
28. Who is the author of the poem ‘The Tables Turned’?
(1) Mark Twain (2) Sarojini Naidu
(3) William Wordsworth (4) H.W.Longfellow
29. Inwhich of the following essays the author says that work is worship?
(1) Incelebration of Being Alive (2) The secret of work
(3) Learning from the west (4) JCBose
30. Inthe Novel “The Adventures of Tom Sawyer’ who plays the villain role?
(1) Huck (2) Muff potter
(3) InjunlJoe (4) Widow Douglas
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PART -1I: ECONOMICS

31. Per Capita Income means
_ : National Income
(1) National Income x Population (2) Population
Population :
@) Tl Tocore (4) Growth rate of National Income
S50 BIcoHIN LS
8o oS0
(1) =r8ciroroHdn x 23 (2)
2RI
BIY
(3) i S (4) méairorod SyE0&R
32. The Law of Diminishing Marginal utility based on
(1) Ordinal Utility (2) Form Utility
(3) Cardinal Utility (4) Service Utility
§5'>08 PRrad dpodo BIP TEHEIE?
(1) 835 pIrado (2) &9 PAraso
(3) 58565 Paraso (4) Do PIRraso
33. What is Gross Domestic product?
(1) The total value of Goods and services produced in the country.
(2) The total value of all the economic transactions in the country.
(3) The total value of final goods and services produced in the country during a financial
year. - '
(4) The total value of Intermediary goods in the country.
dro BITrE8 ol
(1) =¥ 390" ¢&)8 wond Ingo SRHo, Ddo dend
(2) =8 B¥oS*D Jodo v SghTTre Jend
(3) =8 BFos' 68 VoSESING" GEHB wond W8 INHo Do Jeod
(4) o8 BFos'D HEgods SNJo e
34. The process that converts inputs into output is known as

(1) Production (2) Distribution

(3) Exchange (4) Consumption
S EFoH ST SG) PEoHI I00trdd?

(1) &8\ (2) Hoded

(3) Sr88S50 (4) DABrKS0
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35.

Identify the wrong one

(1) Wealth Definition - Adam Smith

(2) Welfare Definition - Marshall

(3) Growth Definition - Jacob Viner’s
(4) Scarcity Definition - Lionel Robbins

& 18od T8S® 3057 T Kodosod.
(1) 2038 ddgusdo - ed S

(2) D08H JgESo - IrgS

(3) $)8 dgEso - 8D ISE

(4) E68 SIS0 - 0SS TOHY)

36.

Wants satisfying power of a commodity is known as

(1) Money (2) Satisfaction
(3) Utility (4) Consumption
§ofod Jod Bobio Y IR Sootrsd?

(1) &Sg0 (2) Sodyn

3) PIrz=so | (4) ddRrKo

7.

When total utility is maximum, marginal utility becomes

(1) Marginal utility falls (2) Negative
(3) ZERO (4) Increases
Ingo PAraso KBJom G, GIrod PArRI0

(1) &Fod PArzdo 883500 (2) Serdgo
(3) g0 (4) &HEH

38.

The Law of Equi-marginal utility is also known as
(1) H.H. Gossen’s first law

(2) J.M.Keyn’ssecond law

(3) H.H.Gossen’s second law

(4) J.R. Hick’s first law

JAIrrod PATRS ?\3%‘06‘35 o 300B0E W.
(1) HH. s @6 Semgo

(2) JM. &) dods dmgo

() HH. oS Bods dovgo

(4) IR 2§ ©&5 smso
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39. Relationship Exists between the price and the quantity Demanded of a commodity

(1) Positive (2) Negative

3) ZERO (4) None

w8 SNJ G865, T 85r0s H0SrerrA8 DenHodd dowodo Godnod?
(1) dadgo (2) Serggo

(3) &3g0 (4) b5

40. The Law which states that what will be response of output when all inputs are increased in
a fixed proportion?

(1) LawofDemand

(2) Law of Supply

(3) Law of Variable proportion

(4) Law of Returns to scale

&&)8 505008 0 BHFES® DoAY GE)E TEFL ST, ¢888 Dy
&) Jo20ed) & drgo JS6X0H?

(1) &5ro& drmgo

(2) dpow SrEo

(3) [e)dE &é8 Heo

(4) 85555505800 PEIere HrSo

41. Indifference curves are always to the origin

(1) Tangent (2) Convex
(3) Negative (4) Concave
STREE SEdpen JPIYEr SroDoHIH Jor Gotron?
(1) Jdrogssom (2) SoozgrseSomr
(3) GoergESom (4) JtrsGomr
42. Average product
(1) Total product x No. of Workers (2) TP,~TP,
3) No. of Workers employed @) Total product
Total product No. of Workers employed
St a&S :
(1) 3wdo &#)8 x TAdeo Sopg (2) TP, ~1P
(@ osoe dopg Swdgo &3
®) Sgo wé8 4) (@ Jopg
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43. Who introduced the concept of scarcity rent?
(1) Alfred Marshall (2) J.S.Mill
(3) AdamSmith (4) Joan Robinson
E88 wrifo s IS0 PIFTDETEH?
(1) sS@& 58S : (2) 1S.26
(3) wd>D S (4) 2 TAIJR
44. 'Who propounded the famous law of market “supply creates its own demand™?
(1) A.C.Pigou (2) J.B.Say
(3) J.S.Mill (4) Alfred Marshall
‘330D &5 BSrodH &3 JHowhsotnod” SrT)E Jr@o IS 0T E?
(1) AC. 58 ; 2) JB.®
(3) JS. & (4) eSPE& 78S
45. Who wrote the famous book “Wealth of Nations™?
(1) JM.Keynes (2) Alfred Marshall
(3) Robbins (4) Adam Smith
©rg® FobdS “Targe 3038”7 ©F Ko ISKH ERoTK?
(1) IM.&5 (2) e5@Ee 78S
(3) oA (4) s8d S
46. Primary Deficit :
(1) Total Revenue — Total Expenditure
(2) Fiscal Deficit — Interest payments
(3) Total Revenue + Total Expenditure
(4) Revenue Receipts — Revenue Expenditure
rEDE St odm :
(1) Jodo oraden — Indgo Sgairen
(2) SHHSPE S — 5§ BDoYew
(3) 3ngo traden + Ingo Sgosren
(4) B3s>rg Cwrdoen — BBSrg Sgosren
47. Inwhich year “Reserve Bank of India” was established?

“Pr88 028; wrgoB M0 Q DoSHBLwS® oy BEEd?
(1) 1935 (2) 1945
(3) 1949 (4) 1950
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48. Budget in which the total Expenditures and the total revenues are equal?

(1) Balanced Budget (2) Surplus Budget

(3) Deficit Budget (4) None

3ngo Tathen, 3ngo Sgairen JEFSom ) 2FEH ASotrd?
(1) J0&H¥8 288 (2) ofben 288

(3) %o wgs (4) 28656

49. Find the Arithmetic mean for the data 30, 20, 32, 16, 27
30, 20, 32, 16, 27 © @08S0Eg00 Jod?
£1) 28 (2) 25 3) 30 4) 20

50. Formula for Relationship among mean, median and mode
(1) Mode =2 median + 3 mean
(2) Mode =3 median x 2 mean
(3) Mode = 3 median — 2 mean
(4) Mode = 3 median + 2 mean

©oES0Egdo0, SogigrdSn Sodasn wrdugso Soggie doworrd) 89 drgo.
(1) wdodbo = 2 So8ghasn + 3 wokSdssoo
(2) erdoddo = 3 Doggrdsn x 2 wosdggsoo
(3) rSvuddo = 3 Hoggrgsn -2 @080
(4) erdodo = 3 Soggrssn + 2 wodSggso

1l

51. The Government of India has established “NITI Ayog” to replace the
(1) Human Rights commission (2) Law commission
(3) Planning commission (4) Finance commission
EE BehesEn A Bowo PHost ‘D8 wArA S ok BHSE?
(1) Sr83 TEye Sovo (2) o JoPoo
(3) P95 Sodoo (4) o8& dodoo

52. Period of “Plan Holiday”
Per®5” Jodoo srosw

(1) 1990-92 (2) 1966-69 (3) 1978-80 (4) 1992-95
53. Who introduced the concept of “Human Development Index”?

(1) Paul Samuelson (2) Morris D Morris

(3) Mahbub-Ul-Haq (4) James Tobin

‘SrSTR)] drdE” ol ist O3 DYST.

(1) > 7lorgdds (2) 385.8.3785

(3) JTard-aS-5F§ (4) By &*0S
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54.

Which is not the characteristic feature of developed country?

(1) High per capita income (2) Better quality of life
(3) Low level of unemployment (4) Dual Economy
oS3 Bodd Bdo vfwo £AB 28?
(1) 88 8038 smrado (2) RS 238 Pdreo
(3) 8898 Fons* Jd&gHo (4) ©88 dsodgdssn
55. The term which refers to progressive changes in the socio economic structure of a country
(1) Economic Growth (2) Economic Development
(3) Under Development (4) Unemployment
3% Fodos, ©fE Ao ING® 50giDoB Br8lL Sriyel SrdowHls
(1) &8¢ 53 (2) ©gs93)8
(3) IoEertn S550 (4) d&gHo
56. Sarva Shiksha Abhiyan was introduced in the year
26338 OHAS HETR) D HoSHHBIWS* HIE DET? :
(1) 2002-03 (2) 2001-02
(3) 2004-05 : (4) 2009-10
57. The term Birth Rate Refers to
(1) Number of birth per thousand population
(2) Number of birth per hundred population
(3) Number of death per thousand population
(4) Number of birth per one lakhs population
2385805 JrDoHdd A8?
(1) ©8 Jowg 508 23S’ JodH0d YHSHTHD
(2) 8 506 508 2TTS Jod508 YHEITNH
(3) ©8 JogHod 27erS” JodH0d WA I
(4) ©8 of %008 aTeS* JoS%08 YT 3
58. Calculate the Range for the data .

20, 25, 29, 30, 40, 42, 56, 62 and 80

& (Bod Sarodod® gl Kedood.

20, 25, 29, 30, 40, 42, 56, 62 S50 80

(1) 50 ° (2) 60
(3) 40 ‘ 4) 80
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39.

The largest port in Andhra Pradesh

(1) Krishnapatnam port (2) Kakinada port
(3) Visakhapatnam port (4) Gangavaram
BOPPBT TPos” B8 G LGB ‘

(1) 8RZd&o (2) s854

(3) dTpddyo (4) HKoKksso

60. What is the total literacy rate in Andhra Pradesh as per 2011 census?
2011 zarer B8 © @560 BOFHAT Ingo VETHIS T Jod?
(1) 74.36% (2) 52.78%
(3) 62.14% (4) 67.35%
61. Deen Dayal Upadhyaya Grameen Kaushal Yojana (DDUGKY) programme was launched on
(1) 15™ August 2015 (2) 25% September 2015
(3) 25t September 2014 (4) 15% August 2010
BIEErE e>ergod e To @rad HEESnd JByd @Sodomrd?
(1) o5&y 15, 2015 (2) Roxb 25, 2015
(3) Rows 25,2014 (4) o8 15,2010
62. “Disguised unemployment” in India is mainly related to which sector?
(1) Agriculture sector (2) Industrial sector
(3) Service sector (4) Private sector
“BE)E) D& GAS” oS Do I FomdE BobIH?
(1) Sgdaraso Soro (2) H/Ede oo
(3) adoio (4) @3E Joko
63. The objective of “Twelfth five year plan” is
(1) Human Resource development
(2) Inclusive Growth
(3) Faster, sustainable and more inclusive growth
(4) Poverty Eradication
125, H0E58 Hea 98 0850 IN?
(1) Sr38 S8 v
(2) J2098 358
(3) de&go, "m“.gd S0BoI0 IS 63@
(4) 88 AEres
64. Inwhich year Government of India implemented “New Economic Reforms”?

TEE (HeHEeEn J JodHhBost “SrdS eQ¥ Do) Seven” HIE DEPEH?
(1) 1985 (2) 1991
(3) 1975 (4) 2005
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65. The process of development which sustains the human wellbeing in future also
(1) Economic development (2) Humandevelopment
(3) Resource development (4) Sustainable development
TRSEoS Erd SrdS éo’é&’w:‘(zl édon‘ F3AoBHON &9@;’3&% @(8o.
(1) ©8s935)8 (2) Sr395)8
(3) S¥e 3B (4) DoPEDS ©DSYH
66. InIndia Special Economic Zone (SEZ) act was passed in the year
PESBIS0S’ HBGE ©PE o) IQINI J SoSBINS* Bed?
(1) 2000 (2) 2005
(3) 2009 (4) 2010
67. The process of integrating the domestic economy with the world economy is called
(1) Liberalization (2) Privatization
(3) Globalization (4) Urbanisation
a% esg'é a’)gégéa, @H0Ls @gé ;55;’)‘(86‘ ©SVoTE50 B PBoHN S00rsd?
(1) 5985w : 2) P38E5
(3) PdonEsw 4) Heed8e
68. Inwhich year Kisan Credit Card Scheme was introduced?
8BS BAS 58 DHEESND J JoSGEES* PIFDENED?
(1) 1995-96 ~ (2) 1998-99
(3) 2000-01 (4) 1990-91
69. The first five year plan gave importance to
(1) Agriculture sector (2) Industrial sector
(3) Private sector (4) Service sector
BEE HoSSE HeTE D SomdE (DI aQ)od.
(1) SgSrcd oo (2) SFoE0E Soio
(3) @I& Goko . (4) 8¢k Goko
70. Inwhich year was Government Nationalized 6 Commercial Banks?

D Dod&8B0es® Hehdco 6 Tedag ergotiosy 8cho BRoH?
(1) 1951 (2) 1969 |
(3) 1980 (4) 2000
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PART - 111 : COMMERCE -1

71. Buildings, Bridges, Roads, Dams, Canals are examples of which industry
(1) Manufacturing industry
(2) Service industry
(3) Primary industry
(4) Construction industry
FSTen, Sodlen, 5K, wlshen, STaden J HBFHE GorTEen?
(1) sensE SoFsen
(2) Do SBESIen
(3) @E0E HBFSoen
(4) Qovee HJFSoen
72. Employment is a :
(1) Social activity (2) Non-economic activity
(3) Economic activity (4) Political activity
&6§'gio s
(1) >Sr28 sEg8erdo (2) @gééd seEg8erdo
(3) 88 s8ggerdo (4) o=z8oh sEgEerdo
73. Distance between production centers and consumption centers difficulty is removed by
(1) Communication (2) Transport
(3) Warehousing (4) Advertising
&&)8 Sorro, AArK BoEresh Dfgie ErdodH 3 ©56'¢0 SonH0s?
(1) 8SorgdBAS (2) S
(3) Agotoen (4) PdELSen
74. Which of the following is a feature of sole proprietorship?

(1) Single ownership (2) Unlimited liability
(3) One Man control : (4) Allofthe above

& §0d TVS® Fod TgFrdo vEmo AB?

(1) 28 c%zldrd (2) 0BG e wrEgs
(3) 9 3g8 dohoe @) D5
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75. Senior most male member in joint Hindu family is known as

(1) Karta (2) Coparcener

(3) Partner (4) None

&50)8 ol Sotnowos® SaHiYS® DETFS 558D ABooird?

(1) %8 (2) 358308

(3) erd% (4) 857
76. Sleeping partner also called as

(1) Active partner (2) Dormant partner

(3) Working partner (4) Nominal partner

AEY o0 erKBdE o $B8RB0E &

(1) SBBacs gridyds (2) e iy

(3) JFD rrdydd (4) ~SrER TrSys
77. The liability of partner is

(1) Limited (2) Unlimited

(3) Allof the above (4) None

TR B, e erys '

(1) Hode&Sn (2) ©380ES50

(3) 2SI (4) b5
78. What is minimum members required to form co-operative society?

D58 Hod ﬁgé:‘ééo SIS ED debge dopg

(1) 10 (2) 20 (3) 30 4) 5
79. What is maximum members in private company?

|2 e (21 (3) 50 (4) Unlimited

RIE SoS® KoY debge Bopg

{1)-*2 (2) 7 {3750 (4) wddE0
80. What is minimum paid up capital required by public company?

598 K008 EADY BoY Swreodlo Jod?
(1) 100000 (2) 200000 (3) 500000 (4) 450000
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81. Debenture holders are
(1) Creditors of the company (2) Owners of the company
(3) Leaders of the company (4) All of the above
8BosE e Eonds JSTeE?
(1) EondE Hemden (2) EondE chHasrsoen
(3) EondE TchHsoen (4) 3y
82. A company which is created by a special act of the parliament or assembly of any state is
called
(1) Government company (2) Statutory company
(3) Private company (4) Public company
S EIPS R, THSHLHS S Bo, o°g ©ebegen P8gE I dabdo oo bcgé.n
DS Eowdod dS00erdd?
(1) s Sonen (2) TI>E)E Lopden
(3) @IE BowAen (4) $9F Eowden
83. Which type of company issue prospectus?
(1) Private company (2) Public company
(3) Allofthe above (4) None
D EoQ HBWoH Hgod =6 VoswSo?
(1) @3S god (2) 05 Sond
(3) DI (4) o5&
84. How many members signed the memorandum of association in case of public company?
:‘60%6:‘6 d@os® HBE Eo0nRE H020H0D Qo8 2008 Hodko Bosrd?
1 3 (2) 6 (3) 7 4) 8
85. Which of the following is long term sources of finance?

(1) Equity shares (2) Preference shares
(3) Debentures (4) All of the above
& 808 TES* D BYFOE DE S5hen?

(1) ©8¢88 réren (2) epEgH Féren
(3) 8Bow& (4) D38
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86.

Which shares can be converted into equity shares within a specific period of time?
(1) Irredeemable preference shares

(2) Non-convertible preference shares

(3) Convertible preference shares

(4) Cumulative preference shares

2§ Jbdsroo Sod D Treod &8 Tireor SrdSuno?
(1) ©IIrScH e§8gY Téren

(2) SrG@R8 B BREGY Téren

(3) SrgSaS ©psgy Irtren

(4) Dod8 ©REgY Téren

87. Which year Micro Small and Medium Enterprises (MSME) development act into force?
Sy OF) gy S65° Joge o Iy ©5HeS'AE INod?
(1) 2-10-2006 (2) 2-10-2005
(3) 2-11-2006 (4) 2-11-2005
88. What is minimum members in public company?
(1) 2 2) 7
(3) .50 (4) Unlimited
SDE Sowden ED dehbge dopg
(1 2 ' 2) 7
(3) 50 (4) oH0DE0
89. Which trade buying and selling of goods in large quantities?
(1) Retail trade (2) Wholesale trade
(3) Alltheabove (4) None
50, S HBSrwos’ SHJo Fhoffew, olyster =00 SgEod AS00erEd?
(1) s 3880 (2) &% S8%o
(3) 23 (4) b5
90. Import trade means

(1) Goods purchased from other country

(2) Goods sold to other country

(3) Production of goods in a country

(4) Alltheabove

BKBB SPBo vdm

(1) 288 7o HH0& SNJoH FHifen dohdo
(2) 288 Brod SNIJod wlydo

(3) THos® SHIJo &G

(4) 239
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91. What are the advantages of Special Economic Zones (SEZ)?

(1) Employment generation (2) Economic development
(3) Balanced regional development (4) Allthe above
HBgE 688 Hoddy eIRrmed AD?
(1) &&'gf wdsmaen (2) =88 w3
(3) &S @odohH ©HSYB (4) 23
92. Fixed deposits also called as
(1) Time deposits ' (2) Term deposits
(3) Alltheabove (4) None
258 Aaok Ko 00@NE D&
(1) 8o éarzén (2) 5oHdN8 daradn
(3) DI (4) b5
93. Which is the oldest mode of transport?
(1) Railway transport (2) Airtransport
(3) Pipeline transport (4) Water transport
& 808 TBS* A8 YTSS e FEEB80?
(1) Ben Sarese (2) oecsn Sarese
(3) 2IBH STrer (4) =zo Saver

94. Which of the following is regulator to control Indian Money Market?

(1) RBI (2) Govemment
(3) SEBI (4) None
TESBIoS® 0 ST Ls Joo@oBa?

(1) =88 daddg ergod (2) Eaoggo

(3) SEBI ' (4) 85

95. Name of the shares issued by the company to employees

(1) Preference shares (2) Debentures

(3) Sweat equity shares ' (4) Deep discount bonds
B0 GG gHoH 6 To T I500rE?

(1) =88gy aréren (2) 2w HEren

(3) &% &8 Firen (4) ©B8 &3Yo& woly -
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96. Which of the following is not capital market instrument?

(1) Secured premium notes
(3) Disaster bonds

()

)

Deep discount bonds

Call money

& 808 TES* B Jredd ST FESED E?

(1) 68 ©Aocho e
(3) D&Y ewrodd

(2)
4

08 &8 08 wrody
vy BSgo

97

Which market provides short term funds?

(1) Primary market
(3) Capital market

()
4)

D S0 Jgen5sdE Ao JErEHE08?

Secondary market

Money market

(1) @62 5598 @) Ggbad ST
(3) Sorods S8 (4) &Sdg Srg) &5
98. Indemnity principle is applicable to
(1) Fire insurance (2) Marine insurance
(3) Motor insurance (4) Alltheabove
SZT8 dgodswn Q HIrE 300w0%0?
(1) o dd> (2) J50E Hir
3) a5S DS (4) 25
99. What is the base year of Nifty index?
Y Jrd Do), DB Jonso AB?
(1) 1978-1979 (2) 1980-1981
(3) 1995-1996 (4) 2000-2001

100.

Which consumer protection act enacted?

INRrHTrde o 540 o SoddSos* Erdrodomdd?

(1) 1986
(3) 1988

(2)
4

1987
1989
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101. How many redressal agencies under the consumer protection act 1986?
1986 dA&GriordHo S SLINS® Wrdpdd S0 8 éogm Q?

(1 3 (2) 4 (3) 5 4 2
102. In which street is Bombay stock exchange?
(1) Dalal street (2) Wall street
(3) President street (4) Prime Minister street
woB & Jyod D Hos* &HB? '
(1) &Sers DB - 2) &S 28
(3) ogs8 28 (4) PEsdso® o
103. Goods and Service Tax (GST) was introduced in which country?
(1) India (2) America
(3) England (4) France
5%y Do dd BIFHGS ddo
(1) =modosr (2) oS
(3) =orrod 4 &Ny
104. Which is facets of electronic banking?
(1) ATM (2) Tele banking
(3) Mobile banking (4) Alltheabove
& Bod T8S* JoFAE ergoBoli EFen J?
(1) .8.0%0. (2) B8O zrgobof
(3) 30BS argoBoh (4) 23
105. Which bank is called Central Bank of India?
(1) Reserye Bank of India : (2) State Bank of India
(3) Union Bank of India (4) CanaraBank
FTESBF0S* So|8 wrgos JB?
(1) dz&yg ergosd & Rodadr (2) RE ergof & qodasr
(3) cSrAoDS wrgof 6P xobdlr (4) 330 wrgodd
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106. A contract between two or more Insurers.

(1) Double insurance : (2) Re-Insurance
(3) Allthe above (4) None -
Boh (B) wod¥od NEORS DS Doge Hody adyodosd DB208787?
(1) dgoesg HS (2) 8GSr
(3) 2SI 4) 26 =&
107. Which entrepreneur introduce new goods and new production methods?
(1) Fabian entrepreneurs (2) Drone entrepreneurs
(3) Imitative entrepreneurs (4) Innovating entrepreneurs
£ 689 SuHoH H0ck0 FE 88 HESes HITHY JowRIrgs I56?
(1) iR Aowpdsrgdd (2) R0 DEY JoIrgsy
(3) w8 JoSrgdd (4) S38d Qoosrgdd
108. Advantages of insurance
(1) Provides certainty (2) Provides security
(3) Distribution of losses (4) Alltheabove
D> S0l PArase
(1) gasd sdyothd (2) &S 8Oy
(3) ST Howt (4) 23
109. Which deposits maintained by traders and business men?
(1) Saving deposit accounts (2) Fixed deposits accounts
(3) Current deposit accounts (4) Recurring deposit accounts
Sg%e0, Tgrsdes @ el grereo $OA wolrd?
(1) ~dof) dFr2s grecen (2) 956 &d>r=8 grere
(3) &doin &Frzd praren (4) ©¥0ohA &ral preren

110. Which is not advantage of transport?

(1) Movement of goods (2) Creation of place’ utility
(3) Stability in prices (4) Accident

& 8od TBS® e PATruS0 5.

(1) [ 800 (2) Po @Er=do

(3) &8 %ééde@ (4) PdSroven
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PART-IV : COMMERCE - II

111. Accounting cycle is

(1) Joumnal (2) Ledger (3) Trialbalance (4) Alltheabove
0T ol30h HEosS® Ko JB?
(1) d¢r (2) sdg (3) ®oser (4) 23

112. What is the principle of debit the receiver credit the Giver?
(1) Real account (2) Nominal account
(3) Personal account (4) Allthe above

BArzso FobdS S8 FDG Vdx, WAraso aY)S g8 e FAS I drgo 2
TS D020HoNIB?

(1) 328 gre (2) SDIrEY gree
(3) 3g8hs gre (4) 230

113. Purchased goods from Sachin for cash 20,000. Which account be credited?

(1) Purchases Account (2) CashAccount

(3) Sachin Account (4) RamaAccount

JDS H0d SKSK Foffer BOS 3% 20,000. Q Fra BAE Bosrd?
(1) Fof'en o (2) SKs e

(3) IS e (4) odr e

114. Which type of Account is drawings?
(1) Realaccount (2) Personal account
(3) Nominal account (4) Assetaccount
o TESen @ Prerio BodIB?

(1) o328 gree (2) Sg848 pro
3) THIrEH ve . @) o} pe
115. In purchase book there are* columns.
Floffen Viren Q) SHJen Godran?
i) 4 2 5 (3) 6 4) 8
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116. Find out the capital amount if machinery 1,000, Buildings 20,000, cash in hand 10,000,

Debtors 10,000, Creditors 5,000, Bills payable 10,000

& (§0d o8S® oo dend 1,000, Ficew dend 20,000, B8S* SKS Jend
10,000, a0eidgen 2e0510,000, wemrdes 5,000, 890y denev 10,000 Jend

GAAYE Joroddo Jngo dog?

(1) 25,000 (2) 26,000

(3) 27,000 (4) 30,000
117. Goodwill is a

(1) Tangible asset (2) Intangible asset

(3) Current liability (4) Long term liability

8IS @38 o8 '

(1) &Q%od ey (2) BI24d e

(B) BxRs vdy (4) &g)s"é)é ®dy
118. Bank overdraft is a

(1) Asset (2) Fixed asset

(3) Current liability (4) Capital

ergody LI6ER ¥

(1) e (2) 8§08 o Bo) oy

(3) ©XRS ody (4) Sorogso

119. Which transactions are recorded in cash book.
(1) only cash transactions
(2) only credit transactions
(3) both cash and credit transactions
(4) Alltheabove

SH HJBosS* Q Sg3ForoH S BRK?
(1) S8 Sgsdiess SmEdh

(2) voY SgESoos SrEdh

(B) Shc, vt Sgsoen

(4) s
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120.

Which account transactions recorded in Balance Sheet?

(1) Personal account (2) Realaccount

(3) Alltheabove (4) Nominal account

vl vdyo HBS @ TrErol HoododS SgSFFTod $3rd Bo?
(1) $g8Ks gree (2) &8 e

(3) I (4) S3rEY e

121

If capital of business 20,000, Bills payable 15,000, Bank overdraft 5,000, Creditors 8,000.
Then total assets value of business

Frgardo BwE), Sredso 20,000, BodSodS Hegen 15,000, wrgof 2365y 5,000,
awemdes 8,000 vond ¢ Tg>rdo G, Iwndgo o dend
(1) Rs. 48,000 (2) Rs. 38,000 (3) Rs. 58,000 (4) Rs. 45,000

122.

123.

Outstanding rentis a

(1) Expenses (2) Income (3) Asset (4) Liability
BYoTOJ ©F a8

(1) Sgoso (2) sorado (3) s (4) ol

Where is carriage inwards recorded?

(1) Trading account credit side (2) Profit and loss account credit side
(3) Tradingaccountdebit side (4) Profit and loss account debit side -
Foffeo Saer 3o I8 3o BRc?

(1) 388 prars® A IYS (2) erddge gres' 48 IHIS

(3) 588 yrerd® DG IHS (4) oddgo gred’ DS IPS

124.

If Trail Balance shows closing stock amount of Rs. 12,500. It will be recorded in

(1) Asset side of balance sheet

(2) Credit side of trading account

(3) Credit side of profit and loss account

(4) Debit side of profit and loss account

woeren &r. 12,500 30A0x) 0K Jog SrPDH0. B G E S3rdd Bosro?
(1) e odye 38S° sRo 3HS

(2) 388D pras® BAS 3HS

(3) oFdTe grod’ BAS IYS

(4) erddge gred’ DS IYI
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125.

Opening stock Rs. 5,500, purchases Rs. 12,200, Purchase Returns Rs. 1,200,
Wages Rs. 975, Sales Rs. 25,500. Find out gross profit.

(1) Rs. 8,125 (2) Rs. 8,225 (3) Rs. 8,025 (4) Rs. 8,325 |
@G0l S &r. 5,500, SRR S 12,200, EHoFfer addoen & 1,200, Isoren
& 975, odnsten &r. 25,500 ©o0S zﬁgu Q) ESiTSod.

(1) & 8,125 (2) & 8,225 (3) &u 8,025 (4) & 8,325

126.

Gross profit Rs. 28,500, Rent Received Rs. 5,000, Salaries paid Rs. 6,500, carriage outwards
Rs. 525. Find out net profit.

(1) Rs.26475  (2) Rs.27475 (3) Rs.26575  (4) Rs. 27,575

K:«J@'oo‘e;'o S 28,500, SNS @3 sou 5,000, 2ereo Sru 6,500, odse Sare
S 525. @ond ES Sacuy)) Eoird0d.

(1) & 26475 (2) &u27475 (3) &26575 - (4) & 27,575

127.

Cash book are always shows

128.

(1) Credit balance (2) Debitbalance

(3) Allthe above (4) None

SKS0Y[E0 Iy J Jegd BrHHos?

(1) B&8 dex (2) QDS Jexg

(3) 25 (4) 28 5%

Purchased goods from Rama Rs. 8,500. Trade discount 15% find out trade discount amount.
(1) Rs. 1275 (2) Rs.1.375

(3) Rs. 1,175 (4) Rs. 1,265

oS %08 FF) B8 &r. 8,500 SEEDH BA0lS 15% wond SEEH B0l Ioa)
S0 So50.

(1) & 1,275 @) & 1,375
(3) & 1,175 4) & 1,265

129.

If purchased machinery from Jagan Rs. 10,000. Which book above transaction is recorded?

(1) Purchase Book (2) SaleBook

(3) Journal Proper (4) CashBook

263 Sod Foffeo BRI aogo &omn 10,000. Sg55E0d O PREoS* I3t BoSrd?
(1) SHffer Hsgo . 2) eipe Bk

(3) oden dip (4) S8 HJso
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130. Which of the following is plant and machinery account?

(1) Personal account (2) Nominal account
(3) Real account (4) None

Fotn BB choEew I FE K Ho2050D5I?

(1) Sg8hs gree (2) THIFEY pe°
(3) &8I o (4) 28 s

131. How many parties in Bills of Exchange?
DHcSH Deen &) rfen IY?
(1) 2 (2) 3 (3) 4 4) 5

132. Ifbill written date is 25t March, 2020. Bill period for 3 months. Find out maturity date of
bill.

(1) 28T June 2020 (2) 28 July 2020

(3) 28% May 2020 (4) 27% June 2020

Dexn ool 86 25 S50y 2020, Dex 500 3 Jow wos Dey KLY B Erod0.
(1) 2020 25 28 : (2) 202028 28

(3) 20203 28 (4) 2020 25 27

133. Straight line method is also called as

(1) . Fixed installment method - (2) Equalinstallment method
(3) Original cost method (4) All the above '
PSTeL-To ?.’Jgég S08B0E D&

(1) 6 TonTe 288 (2) JdrS TovTe HE8
(3) wden p8& HES (4) I

134. Anassetpurchased for Rs. 50,000. The useful life of the asset is 10 years and the residual
value is Rs. 5,000. Find out annual depreciation.

(1) Rs. 5,500 (2) Rs. 6,500

(3) Rs. 4,500 (4) Rs. 3,500

2§ 6l §%) b & 50,000, & &Y 2dETvo 10 JoSSTrer wosa Schwdod.
Bl Y, ©ITRY deod 8. 5,000. ©ond TOE SHHEL Inndo ERMEBX.

(1) &. 5,500 (2) & 6,500
(3) &= 4,500 (4) &». 3,500
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135. Which of the following is causes of depreciation?

(1) Wear and Tear (2) Physical forces
(3) Accidents ~ (4) Alltheabove
& 80d TES* SSHBEE Ko s8eTren 2D?

(1) bbb, 88k (2) T8 Fe
(3) wiroren (4) 239

136. Goods sent on consignment account is a

(1) Personal account (2) Realaccount
(3) Nominal account (4) Trading account
ESDID0ED HodE HK gret J ey BodISH?

(1) Sg8rs gree (2) >328 po
(3) ~SrEY e (4) 3883 yro

137. Which commission is allowed to the consignee to bear the loss of bad debts?
(1) Ordinary commission
(2) Del credere commission
(3) Overriding commission
(4) Alltheabove
o erde 50 63 STQ) FooSTIE M, ESPAS BTV EMASK B00ErEd?
(1) >80 EDAS
(2) @S @ad EXAS
(3) ©65H EDARS

(4) 23
138. Income and expenditure account is a
(1) Nominal account (2) Personal account
(3) Real account : (4) None
sorah Sgoire et O TEd BodIs?
(1) ~Dsrmgd e (2) 3848 gree
(3) o308 gre (4) b s
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139. Life membership fees is recorded on which side of the balance sheet?

(1) Assetside (2) Liabilities side

(3) Payment side (4) Expenses side

2D JPgdg DB B viye HGS* o IPS SIrd BPGH?
(1) eXRo IHS (2) odyo IS

(3) BQoho 39S (4) Sgaire 39S

140. What is the maximum rate of discount for issue of shares?
Tire =06 :‘6066&06‘ TEreD ﬁaéon" 'aar) &?D?IoéS' TS0 D0s?
(1) 5% 2) 10% 3) 12% (4) 8%

141. Revaluation accountis a

(1) Nominal account (2) Realaccount
(3) Personal account (4) None
‘{2);‘663'&6‘805;‘60 e o) Trai BodSH?

(1) oHSrEy e (2) /8 o
(3) 33868 pro 4) b &

142. M and N are partners sharing profit and losses in the 2:1 ratio. They have decided to admit
‘O’ by giving him %™ share in future profits. Calculate the new profit sharing ratio.

M, N e 2:1 IZ8S* ergidods HodES grides. o6 ‘0’ & aridmr $ahgd
oo’ Vi Sod Tir Qb donomrd. Srds orgdire B B osos.
(1) 2:1:1 2) 1:1:2 (3) 1:2:1 4) 2:2:1

143. The profit for the five years of a firm are as follows Rs.1,20,000, Rs.1,40,000, Rs. 1,70,000,
Rs. 1,85,000, Rs.2,05,000. Calculate goodwill of the firm on the basis of 2 years purchase
of 5 years average profit.

(1) Rs. 4,28,000 (2) Rs. 4,58,000

(3) Rs. 3,58,000 (4) Rs. 3,28,000

a8 grifargsog .‘ﬁog RBE), K8 5 donen ergren S&Hdm & 1,20,000, S 1,40,000,
&n 1,70,000, &= 1,85,000, &omn 2,05,000. £ 5 Soiore dKen ergreos® 2 Sonedd
SR rdod HEISS ngozﬁo&.

(1) &mu 4,28,000 (2) &en 4,58,000

(3) & 3,58,000 (4) &n 3,28,000

V-Commerce-II




144.

Rama, Krishna and Radha are partners sharing profits in the ratio of 5:3:2. Calculate Rama
and Krishna new profit sharing ratio after retires of Radha.

oS, R H0ckn TFren Frle. TN ST 5:3:2 IR[PS” JoHhFotoT.
oo eriargdog $og Sood DEWoNSYW Td Sbasw 8] Srdd orddio W8I
8§ 0%04.

)53 - ) 32

(33 %2 4) 23

145.

Calculate the profit or loss from the following.

Capital as on 1-1-2022 Rs. 85,200,

Capital as on 31-12-2022 Rs. 98,250

(1) Profit Rs. 13,250 (2) Loss Rs. 13,250
(3) Profit Rs. 13,050 (4) Loss Rs. 13,050
& 808 dITe H0d ergrd) Br ST B 00s.

1-1-2022 57¢38 Saredsdo &x. 85,200

31-12-2022 37¢38 Soreoddo &, 98,250

(1) ergo &en 13,250 (2) &%o & 13,250
(3) ereSo &on 13,050 (4) &Ho oo 13,050

146.

The excess price received over the face value of share should be transferred to

(1) Share capital account

(2) Capital reserve account

(3) Securities premium account

(4) Shares allotment account

€00 835 el S0BE Deod ) AEYS Jeod F0 FY v IEW) ) PEH
Eﬁogé_:d)? :

(1) o Sorodlo gree

2) Sross dudy e

(3) ¥gode @ocho gre

(4) arére Etronod pree
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147. Ascertain profit earned by a trader who keeps this books under single entry system.
Capital as on 1-4-2022 Rs. 58,000
Capital as on 31-3-2023 Rs. 88,500
Drawings during the period Rs. 2,800
Additional capital Rs. 10,200
(1) Profit Rs. 22,100 (2) Profit Rs. 24,200
(3) Profit Rs. 26,100 (4) Profit Rs. 23,100

2,08 38 ITIINS® 83 YIz oD IGT RN TEFERE oerq) 8§ osed.
1-4-2022 &8 SoreodSo don 58,000

31-3-2023 o8 Sowredso S 88,500 -

D03&)80e* Fodardsten S 2,800

o8I Srodso & 10,200

(1) eordo & 22,100 (2) ergfo Seu 24,200

(3) eorgo &n 26,100 (4) eorglo &omn 23,100

148. Account sales statement is prepared by whom?

(1) Consignee (2) Seller

(3) Consignor (4) Principal '
OIS HHH DITOS IBHED ISH S BXK?

(1) &S (2) wdngordod

(3) EI6 4) Q>SS

149. In simple cash book are-columns
T SHE PJFoS® AQ) SHJe Goéron?

(1) 4 (2) 6 3) 7 4) 8
150. Opening entries recorded which subsidiary books?

(1) Purchase book (2) Sales book

(3) Journal proper (4) Cashbook

(@Eod HotH D ITCHE DFS* TAEH? '

(1) &Hf'en HIFo (2) oo YJso

(3) oden dir (4) S5 YJso

00000
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